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2.0000

0000 (LS)D000O0 (poonooooooo 00 P2000000 a=5°=57/180rad)0 000 (OO0

S25C00000)000000D0000D0000D00000 (3poopo-oooononooon)0000

3.000D0

0100000 (D000000DO0000)0O000 (2)U000DO000O0DO0O00O0ODO0OO0OODOD

00000000000000000000
0200000 (000000 a=>5°=57/180 rad)
Da0000000000 (0000 ¢ =008mmO000000000600000)

Vi(N7) = 1600Va(N2) = 2900V5(N3) = 3900V;(N,) = 5250Vs(N5) = 7300V (Ng) = 970

ObOODOOODO0OO0OOOOD (ODODOOVV)=730rpm 0000000000 600000)

t; = 0.0250¢9 = 0.040t3 = 0.080¢4 = 0.120¢5 = 0.160¢s = 0.18
4.0000
010000000 2000000000000

01 Oooboooooooo

0ooog ¢t =0.08 mm 0000 V(N) =730 rpm
0000 V(N) [rpm] [ 00000 ¢ [mm] 00000t [mm] [ 00000 ¢ [mm]
160 0.46 0.025 0.10
290 0.38 0.04 0.15
390 0.36 0.08 0.34
525 0.35 0.12 0.52
730 0.34 0.16 0.59
970 0.32 0.18 0.62

02 00000000

0o0oodod t; =0.08 mm 0ooo V(N) =730 rpm
0000 V(N) [rpm] [ D00 F, [N] [ 0000 F, [N] 00000t mm] [ 000 F, [N] [ 0000 F, [N]
160 55.57 35.97 0.025 17.93 15.48
290 49.00 35.08 0.04 24.50 21.36
390 47.33 35.97 0.08 46.06 38.42
525 46.75 37.53 0.12 63.70 58.11
730 46.06 38.42 0.16 78.40 68.80
970 46.35 42.43 0.18 81.34 70.76




5. 000000000
00000¢% =008mmO0V(N)=160rpm 0000000

0100000000000 oo0oooo0o0o000000o0ooooDooooOo0oUOoooooOn ¢0O
goboboooo

¢ = arctan — > gQOO,r=*t/t, (000) 0O
1—rsina
0.08/0.46 x cos(57/180)
1~ 0.08/0.46 x sin(5r/180)

S0 =0.174 rad

= arctan

g20000000000000000O0O00COCOCOOOOO rOO0O0OO

Fy=F,cos¢p — F,sing 00O
= 55.57 x c0s0.174 — 35.97 x sin 0.174
S Fy =4850 N
F, = Fpsing+ F,cos¢ 00O
= 55.57 x sin 0.174 + 35.97 x cos0.174

- F,=45.05 N
Fo
LA
t1-d
_ 48.50 x sin0.174
T 0.08x23
. Ts = 45.63 MPa

0300o0ooUo0oOoUo0ooUoU0oOooo-00000DO0OO00O wO0DO0OOO0 poOO0OO0O0

F =Fysina+ F,cosa 00O
= 55.57 x sin(57/180) + 35.97 x cos(5m/180)
o F=40.68 N
N = Fjcosax — Fysina 00O
= 55.57 x cos(57/180) — 35.97 x sin(57/180)

o F=5222N
= E oad
=N
~40.68
- 52.22
Sop=0.78
B =arctany OO
= arctan 0.78

.3 =0.66 rad



0400000 ¢o0DO0ODOOO 200000000
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O bO Lee-Shaffer 00O
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Os5000
0304000000000

03 0000 (¢ =0.08 mm)

V(N) t1 to o) Fy, Fy Fs Fy Ts F N B
[rad) | [mm] | mm) | " | ad) | N | N | N | N [ MPa] | N | N | M| [radq)
160 0.46 0.174 0.174 55.57 35.97 | 48.50 45.04 45.63 40.67 52.22 0.78 0.66
290 0.38 0.211 0.21 49.00 35.08 42.19 43.04 39.69 39.22 45.76 0.86 0.71
390 0.08 0.36 0.222 0.222 47.33 35.97 | 40.39 43.62 38.01 39.95 44.02 0.91 0.74
525 0.35 0.229 0.228 46.75 37.53 39.54 45.06 37.20 41.47 | 43.30 0.96 0.76
730 0.34 0.235 0.235 46.06 38.42 38.71 45.81 36.43 42.28 42.54 0.99 0.78
970 0.32 0.250 0.249 46.35 42.43 38.31 49.82 36.04 46.31 42.48 1.09 0.83

04 DOOO (V(N)="730 rpm)

VIN) |t to ) Fy, Fy Fy Fn Ts F N 8
[rpm] | [mm] | [mm] [rad] | [N] (N] (N] [N] | [MPa] | [N] (N] [rad]
0.025 [ 0.10 [ 0.250 [ 0.249 | 17.93 | 15.48 [ 14.98 [ 18.35 | 45.11 [ 16.99 [ 16.52 [ 1.03 [ 0.80
0.04 | 0.15 | 0.267 | 0.266 | 24.50 | 21.36 | 20.43 | 25.28 | 38.45 | 23.42 | 22.54 | 1.04 | 0.81
730 [ 0.08 | 0.34 | 0.235 [ 0.235 | 46.06 | 38.42 | 38.71 | 45.81 | 36.43 [ 42.28 | 42.54 [ 0.99 | 0.78
0.2 | 052 | 0.231 [ 0.230 | 63.70 | 58.11 | 52.68 | 68.26 | 33.04 | 63.44 | 58.39 [ 1.09 | 0.83
0.16 | 059 | 0.271 [ 0.270 | 78.40 | 68.80 | 65.31 | 81.33 | 30.72 | 75.37 | 72.11 | 1.05 | 0.81
0.18 | 0.62 | 0.290 | 0.288 | 81.34 | 70.76 | 67.86 | 83.77 | 28.38 | 77.58 | 74.86 | 1.04 | 0.81
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